Eron’ AMEQD

BLOCK CLAMPING UNITS 7110A PAT.P No.E-9700A
7 12 oy =

F X8 T7110A

S45C X LB

A\ EEER
AFE@mABMER, 57110BRY| LT E#E,

> O — = N HENR M

W
T8 Bs L S jpEs g ROREE RXTEN BR
927027 | 7110A-0810 10 = M8x1.25 = 13 -31 30-45 17 4.1 0.35
904422 | 7110A-1012 12 MI0X15 18 -48 3350 44 8.2 0.58
904423 | 7110A-1214 14 MI12x1.75 = 17.5-46 3450 78 131 0.6
904424 | 7110A-1216 16 MI12x1.75 = 17.546 3450 78 131 0.62
904425 | 7110A-1218 18 MI12x1.75 = 17.5-46 3450 78 131 0.65
904426 | 7110A-1618 18 MI16X2 235635 = 6585 130 15.2 1.66
904427 | 7110A-1620 20 MI16X2 235635 = 6585 130 152 17
904428 | 7110A-1622 22 MI6x2 235635 6585 130 15.2 1.76
904429 | 7110A-1624 24 MI6x2 235635 = 6585 130 15.2 1.85
904430 | 7110A-1628 28  MI16X2 © 235-635 | 65-85 130 -~ 152 197
WAMER ST
D we ABCD®P E F G H | J xe@p
j 7110A-081022 22 50 M 8x125 80 25 12 3045 8 13 -31 M 8x125 /&M
7110A-1012(25 25 65 M10x15 110 32 16 33-5010 18 -48 MIOX15 oo
7110A-1214(25 25 65 M12x1.75 110 32 16 34-50 10 17.546 M10X1.5 WEFOH
7110A-121625 25 65 M12x1.75 110 32 16 3450 10 17.5:46 M10X15
7110A-121825 25 65 M12x1.75 110 32 16 34-50 10 17.5:46 M10X15
. 7110A-1618(30 30 82.M16X2 142 40 30 65-85 13 23.563.5M16X2
3 7110A-1620(30 30 82 M16X2 142 40 30 65-85 13 23.563.5M16X2 P
7110A-1622(30 30 82 M16X2 142 40 30 65-85 13 23.563.5M16X2
7110A-1624(30 30 82 M16x2 142 40 30 658513 235635M16x2 S
7110A-1628(30 30 82 M16x2 142 40 30 65-85 13 23.5-63.5M16x2 R
AR
mERAEE
4 s gz + P ¥ R B ik
TR REERARELR, BT ENREEEZERE,
T S 1 BERXRESTEYRESE. Ty
IE LT BEELERRNTRE, FHRM
5| EfG (E) CATERNENTRRE, MRLEEBIA,
@ | FBE FA. MEN
©lmE
® | "AERE SHERE 4
@ | ZARBET
RE LT A
©| TRIEE

AIEER THCADHIE. HITEFEIMA.



